——

———————

Subject: The four current spindle kits t®t are available with the spin
necessary change-over parts (71460115, 9
will no %Onger be available. They will be replaced with a sing
and the spindles 71460134 and 71460136 will be ordered separ

Units

Affected: The older units that are changing

which is no longer available, and ¢
_ spindle. This does not affect walk behind units as t

is a direct swap for the old 71460039 spindle.

\si e b
Reviewer- Chris Sty

Approver: Chris Sturtz

_ Commercial products

Author: Ch ris Sturtz

Wright Manufacturing, Inc.

Issue Date: 2/11/16

¥

Date; 2/11/16

Date: 2/11/16

5460016, 95460018 and
le parts

ately.

hanging over to the current produc
ne current.7 1460131 spindle

pate: 2/1/16

dle and
95460021)

Bulletin NameRep!aceme“t spindle Parts, Universél Klt

Bulletin Number: SVC-TSB-0115 | Revision: 01

Kit 95460028

out an original version spindle,
tion version

Situation:' In order to simplify the replacement of older version spindles WM is
creating a single parts kit that works with all models to replace all early version

spindles (71460007, 22, 26, 38, Syand 92).

Claim
Procedure: |

REPLACEMENT SPINDLE PARTS-UNIVERSAL KIT- 85460028

PART #

#DESC.

Qry.

11990090

BOLT, HEX, 1/4-20X1 P8

BOLT, HEX 5/8 - 11X 1 /225

11990132

BOLT, FLANGE.3/8-16 X 1 /225

12990008

NUT, FLANGE 3/8-16 25

13890007

BLADE SPACER, 5/8 X 1/4

15990003

13990039

WASHER, BLACK ZINC PHOS & QIL, P8

MACHINE KEY 174 X 1/4 X 1

71460111

BUSHING, M, SPLIT TAPERED, MODIFIED, 1

93460117

SPINDLE SPACER, 3/8

SPINDLE SPACER, 11GA

[HERS FUEG U PO S S SN =N A P S

"93450118

riformational only.

W\,

-~

{



